Model Satisfaction Slide 35

Given:
® Model M = (S, —, L)
® State s € S
e LTL Formula ¢

M, s & ¢ iff for every path 11 of M starting at s, 17 = ¢.

Formulation_(over all paths)

How to prove vs. disprove M, s = ¢?



Model vs. Path Satisfaction: Exercises (1.2) slice 56

sk p < all mwstartingats, mEp

So = T
So = L
So|=P/\q

SoEFpV(q
Sokp=q

So E T
SoFTr=pPAQAT

Exercise: What if we change the LHS to s:?
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Recall: mE X ¢ & m2 = ¢
P, q SdY:‘I‘I’:sO > Si1 > S> > S

MTEXT

‘ e mE XL
2 " mEX(Qar)
MEXQqQAT

TI'|=X(q=>r)
TT|=Xq=>r

Exercise: What if we change the LHS to m2?
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Model vs. Path Satisfaction: Exercises (2.2)

s = ¢ < all mstarting at s, M= ¢

SoEXT
So = X L
So=X(qAT)
SosEXqQATr
so=X(g=r)
SsEXq=r

Exercise: What if we change the LHS to s.?
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Model vs. Path Satisfaction: Exercises (3.1)

MTEGde=VvVieial=1mkE¢
Say: M =So — S1 — S — Sz — ...

M=G T
MHEG L
TEGA(p AT)
M=Gr
mM=Gr

Exercise: What if we change the LHS to m2?
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Model vs. Path Satisfaction: Exercises (3.2)

s= ¢ < all wstarting at s, M= ¢

So=EG T
So = G L
So=G a(p A T)
So=EGTr
s:=Gr

Exercise: What if we change the LHS to s.?
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TEFdeJiei2l ATTE
Say: M =S — S1 — S — Sz — ...

mTEFT
mEF L
TE=EFa(pAr)
mE=Fr
mTEF(QAT

Exercise: What if we change the LHS to m2?




